Multiplication d’'un Monome par un Binome (J)
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Simplifiez chaque expression.

- —=3n*(—2n* + 5n?)

957 —8fY

FA(=3f7 +4fY)

. 99(295 + 994)

=367 (b + 4b%)

—2m(7Tm?* — m?)

b (—8b° — 2b%)

- n*(3n° — 9n?)

2q(4¢° — 8q*)

- —8w(3w® — 6w?)
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Multiplication d’'un Monome par un Binome (J) Réponses
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- =3n*(=2n" + 5n?)

— 6n% — 15n°

9257 — 8

= 4510 — 72"

FA=37+4f
= —3fT+4f°

99(29° +9g")
= 18¢°% + 814"

- —3b%(b + 4b%)

= —3p — 120°

—2m(Tm?® — m?)
= —14m* + 2m’

—bt(—8b° — 2b%)
= 8" + 20°

n*(3n° — 9In?)
= 3n" — 9nf

2q(49° — 8¢")
= 8¢% — 16¢°

8w (3w’ — 6w?)

— —24w5 + 48uw°

Simplifiez chaque expression.
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